


Components of a hyperbola
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@ }I \ A hyperbola centered at the origin.
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’ When the axis of the hyperbola is the X axis.







A hyperbola with an axis on the X axis has standard

form equations.
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A hyperbola with'an axis on the Y axis has standard form

equations.
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There are two types of hyperbolas centered at the point
(h, k):
1. A hyperbola whose axis is parallel to the X axis.

2. A hyperbola whose axis is parallel to the Y axis.
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A hyperbola with an axis parallel to the X axis has

standard form equations.
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Suppose a hyperbola centered at point (h, k) has focal points at points F_1 (h+c,

k) and F_2 (h-c, k) and has a constant value of 2a as shown in Figure 9.8.
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A hyperbola with an axis parallel to the Y axis has

standard form equations.
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